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F2EBO 12,000|#E& FBLEUSIHSHUR) 12,000 (M) = 1,200 (H)x 10 (A)

ASE 2,000| &2 FHRAASREN SHIN) 2,000 (M) = 1,000 (H)x 2 (AN)

FRBEQ 154,800 |28 (FIASEH,SH#UN) 154,800 (M) = 3,600 (F9)x 43 (AN)

fRERAY 43,000 | g RIMRIRAFI RS &IE S 43,000 (M) = 1,000 (H)x 43 (AN)

FIARO 1,800,000 (FIFH! 1,800,000 (M) = 2,000 (E9) xFAER7RX3ICKD

e 7,210,000(ZHAHLD 7,210,000 (M)

FEITSIRA 30,000 | REaS & 30,000 () = XHESSHE 20,000, EHBSSHmME 10,000

EERSNE 300,000(3EB=EME 300,000 (M)

I=t=k:n) 1,067 481|Bx&iEtz>Y—+ELD| 1,067,481 (M)

=N = 900,000(N P OEAI— FETEELD 900,000 (M) = 5&8%

ESUNE 50,000|314. B& 50,000 (M)

HEUNA 50,000(®I8. F#Hp. JU<. BLEHe 50,000 (M)

& &t 11,619,281
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Im H & % B B o B

REERD () 580,140 [{EE RN 38 (56%) 530,000 (M) = 5&% (BAXZIALY)

BESERM 108. 430 50,140 (M) = 25,070 (F9)x 2 (B)

RIERQ () 24,000 /RS> 7« PRI (Emh 55747) 24,000 (M) = 300 (F9)x 80 (A)

EEfEE (M) 530,000( 4% \MI-21804 30,000 () = 15,000 (F9)x 2 ([@)
MR 324756 20,000 (M) = 10,000 (F9)x 2 ([@)
MR <5108 10,000 (M) = 10,000 (F9)x 1 ([E)
R 7M-360 20,000 (M) = 10,000 (F9)x 2 ([@)
RUR M yh430 10,000 (M) = 10,000 (F9)x 1 ([E)
iR 108. 430 140,000 (M) = 70,000 (F9)x 2 (B)
{EIRAK 300,000 (M) = 2020FEEEENSHE

B E 12,500(|%E8(569) 12,500 (M) = 2,500 (H)x 5 ([@)

FEBRANFRO(H) 15,400| E&NEH(565) 0 (M) XIKSEEER DTz
iR 108. 430 15,400 (M) = Z==% 6,600(M) ZEREMEMA 1,100(H) 269

FARNRO 100,300 MEREATE 100,300 (M) = EAFLE18,000M. EAFIE25,000M

ME#HL52,200M. Zfit5,100M

i IUTIPERK 300,000 &8RS > 5« VR EE 300,000 (M) XURA[CKDEEHF

i I PERK 195,000 BEMNS > 5+ VEEE 170,000 (M) XURA ([CKDEEHF

FMEE () EHEE 20,000 (M) = 5,000 (F9)x 4 (@)

BB E 5,000 (M) 2,500 (FH)x 2 ([@)

EITSE 50,000(%Fie 50,000 (M) = X®”SE 30,000, RSEHS 20,000M

BHRE 10,000|ENRIFE - SHFESR 10,000 (M)

BSEE () 366,000 |[{&HEERHEARRSD) 150,000 () = 2,500 (F)x 5(8)x 12 (#A)
EIEBER 72,000 (M) = 6,000 (F3)x 12 (£ 8)
EARAIFER. BERE 144,000 (M) = 12,000 (F9)x 12 (£ 8)

PRRIE (T) 660,000(HYV U > 660,000 (M) = 55,000 (F9)x 12 (7 A)

B EmE SIS RO () 300,000 |BFEE154% 300,000 () = 5,000 (F3)x 5 (B)x 12 (#A)

EIEEIgHT EIRg 2,000 B EEIS A EIRE 2,000 (M) = 1,000 (FH)x 2 ([@)

R RE T SR E 70,0002 L-~VU>(60g) 54,000 (M) = 900 (F9)x 5 (B)x 12 (#A8)
N RO (504/%8) 6,000 (M) = 1,500 (F)x 4 (F8)
7)LO—IL(2L/K) 10,000 (H) = 2,000 (F)x 5 (&)

RN - BAES 770,000 |#2{5% - BRI - SHEHRIRE 770,000 () = =R : 3% FHEMRE : 70,000

17 3-9-E&(M)| 7,303,941|E¢ - KBE 7,303,941 (M) = E£:927M/hx7,383050 35&EH:420M x34x365H

e 240,000 | &1&#} 240,000 (M) 20,000 (F3)x 12 (#8)

HWE 80,000 |FiB AN - EHREE 80,000 (M)

ERE 10,000|EFRE& 10,000 (M)

AN =

| a

11,619,281




